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Go to each station and perform the conversion requested. Show all of your work below.

1) How many atoms of Al are in the piece of aluminum foil?
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2) Assuming the penny is 100% copper, how many moles of Cu are in the penny?
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3) If this piece of zinc contains 4.74x10* atoms of Zn, how much does it weigh?
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4) This sample of CuSO4 weighs 3.02g. How many moles does that equal?
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5) Measure out 10.0 grams of H,0. How many molecules are now present in the beaker?
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6) This is a 2.87g sample of glucose (C¢H1,05). How many oxygen atoms are present in the
sample?
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7) In the weigh boat are 3.4x10** molecules of ribose (CsH100s). How much does the
sample weigh in grams?
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8) How many molecules of salt (CaCl,) are in a new bag of Morton’s sidewalk salt?
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9) This sandstone rock is nearly all calcium carbonate (CaCO3). Weigh it and figure out how
many molecules of CaCO; are in the rock.
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10) Measure out 1.05x10** molecules of baking soda (NaHCO3).
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